
HELPFUL INFORMATION

Reduction potentials for use in questions:
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+ 14 H+1 + 6e-1----> 2Cr

+3
+ 7 H2O +1.33 v

Ag+1 + 1 e-1 ---> Ag +0.80 v

Fe
+3

+ e-1 -----> Fe
+2 +0.77 v

I2 + 2e-1 ----> 2I-1 +0.54 v

Cu+2 + 2 e-1 -----> Cu +0.34 v

Pb+2 + 2e-1 ---> Pb -0.13 v

Sn+2 + 2 e-1 ---> Sn -0.14 v

Cr+3 + 3 e-1 ---> Cr -0.74 v

Si+2 + 2 e-1 ---> Si -0.91v

Ti+2 + 2 e-1 ---> Ti -1.63 v

Mg+2 + 2e-1 --> Mg -2.37 v

Electronegativities
C 2.5 K 0.8
Ca 1.0 N 3.0
Cl 3.0 0 3.5
F 4.0 S 2.5
H 2.1 Si 1.8
I 2.5
Mg 1


